CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE: July 7, 2022
PUBLIC HEARING DATE: Not Applicable

CONTACT PERSON(S) NAME AND PHONE NUMBER:

Yvette Hernandez, City Engineer, (915) 212-1860

Claudia A. Garcia, Interim Director of Purchasing & Strategic Sourcing, (915) 212-

1218

DISTRICT(S) AFFECTED: 8

STRATEGIC GOAL: No. 7. Enhance and Sustain El Paso's Infrastructure Network

SUBGOAL: 7.2 - Improve competitiveness through infrastructure improvements impacting

the quality of life

SUBJECT:

Discussion and action on the award of Solicitation 2022-0589 Doniphan Traffic Signals to ZTEX CONSTRUCTION, INC. for Base Bid I: \$612,720.80 and Base Bid II: \$810,770.90 for an estimated total amount of \$1,423,491.70.

BACKGROUND / DISCUSSION:

The project scope consists of installation of traffic signals to address traffic congestion control deficiencies that will result in enhancing the intersection of Doniphan and Bird and Doniphan and West Green for pedestrians, and vehicular traffic. The construction is to include, but not limited to, demolition of existing sidewalk, ramps, landscaping and existing signage, installation of traffic signal pole assembly and mast arms, traffic signals, traffic signal foundations, ADA ramps, ground boxes, sidewalks, signage, striping, excavation, conduit/traffic signal cable, and preemption in coordination with BNSF.

SELECTION SUMMARY:

Solicitation was advertised on April 12, 2022 and April 19, 2022. The solicitation was posted on City website on April 12, 2022. The email (Purmail) notification was sent out on April 14, 2022. There were a total forty (40) viewers online; two (2) bids were received; being from local suppliers. An inadequate competition survey was conducted.

CONTRACT VARIANCE:

N/A

PROTEST

No protest received for this requirement.

PRIOR COUNCIL ACTION:

N/A

AMOUNT AND SOURCE OF FUNDING:

Amount: \$1,423,491.70

Funding Source: 2017 Capital Plan

Account: 190-4721-580270-38290- PCP17ST031 190-4741-580270-38290- PCP17ST028

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? X YES NO

COUNCIL PROJECT FORM (Low Bid)

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **July 6, 2022**

STRATEGIC GOAL 7 - Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection 7.2 - Improve competitiveness through infrastructure improvements impacting the quality of life.

Award Summary:

Discussion and action on the award of Solicitation 2022-0589 Doniphan Traffic Signals to ZTEX CONSTRUCTION, INC. for an estimated total amount of \$1,423,491.70. The project scope consists of installation of traffic signals to address traffic congestion control deficiencies that will result in enhancing the intersection of Doniphan and Bird and Doniphan and West Green for pedestrians, and vehicular traffic.

Department: Capital Improvement

Award to: ZTEX CONSTRUCTION, INC.

El Paso, TX

Item(s): Base Bid I and Base Bid II

Initial Term: 120 Consecutive Calendar Days

Base Bid I: \$612,720.80

Base Bid II: \$810,770.90

Total Estimated Award: \$1,423,491.70

Funding Source: 2017 Capital Plan

Accounts: 190-4721-580270-38290- PCP17ST031

190-4741-580270-38290- PCP17ST028

District(s): 8

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to ZTEX CONSTRUCTION, INC., the lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

2022-0589 Doniphan Traffic Signals Bid Tab Summary

	Bidder's Name	Base Bid I	Base Bid	Sur	n Total Base Bid I and Base Bid II Plus Mobilization
1	ZTEX Construction, Inc	\$ 612,720.80	\$ 810,770.90	\$	1,423,491.70
2	Black Stallion Contractors, Inc.	\$ 663,134.19	\$ 869,376.74	\$	1,532,510.93





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 DEPARTMENT: CAPITAL IMPROVEMENT BID DATE: MAY 11, 2022 Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT UNIT BID PRICE UNIT BID PRICE ITEM **ESTIMATED** (QUANTITY X UNIT (QUANTITY X UNIT UNIT BRIEF DESCRIPTION OF ITEM (IN FIGURES) (IN FIGURES) NO. QUANTITY PRICE) PRICE) (IN FIGURES) (IN FIGURES) **BASE BID 1: UNIT PRICE SCHEDULE** Left Blank Intentionally STORM WATER POLLUTION PREVENTION Includes entrances, silt fences, protection 2 LS \$8,625.00 \$8,625.00 \$4,500.00 \$4,500.00 of inlets, dust control, etc TRAFFIC CONTROL \$80,500.00 \$80,500.00 \$101,282.00 \$101,282.00 3 1 LS Includes all necessary traffic control devices and signs for duration of project, and traffic dept. coordination and approval. REMOVE CONCRETE SIDEWALK, STAMPED CONCRETE, ADA RAMPS \$1,932.00 \$14.00 \$392.00 4 28 SY AND DISPOSE OFF-SITE \$69.00 Includes sawcut, complete removal, and off-site disposal REMOVE CURB AND GUTTER AND DISPOSE OFF-SITE 147 LF \$5.75 \$845.25 \$9.00 \$1,323.00 Includes sawcut, complete removal, and off-site disposal REMOVE LANDSCAPING AND DISPOSE OFF-SITE 360 SF \$1.73 \$622.80 \$5.00 \$1,800.00 Includes sawcut, complete removal, and off-site disposal REMOVE EXISTING SIGN AND POST EΑ \$575.00 \$575.00 \$667.00 \$667.00 AND DISPOSE OFF-SITE





BID TI	ΓLE:	DONIPHAN TR	AFFIC SIGNALS						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022						DEPARTMEN	NT: CAPITAL IMPROVEMENT
				Black Stallion	Contractors, Inc.	ZTEX Const	ruction, Inc.		
				El Pa	aso, TX	El Pa	so, TX		
				Bidd	er 1 of 2	Bidde	2 of 2		
ITEM NO.	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
		•		BASE BID: UI	NIT PRICE SCHE	DULE			
8	1	EA	SUPPLIMENTARY DEMOLITION	\$9,775.00	\$9,775.00	\$3,334.00	\$3,334.00		
9	66	LF	FURNISH AND INSTALL 6-IN TYPE A CURB AND GUTTER	\$34.50	\$2,277.00	\$26.00	\$1,716.00		
10	26	SY	FURNISH AND INSTALL 4-IN CONCRETE SIDEWALK	\$97.75	\$2,541.50	\$87.00	\$2,262.00		
11	20	LF	FURNISH AND INSTALL HANDRAIL (TY B)	\$230.00	\$4,600.00	\$534.00	\$10,680.00		
12	4	EA	FURNISH AND INSTALL CONCRETE WHEELCHAIR RAMPS	\$1,610.00	\$6,440.00	\$2,667.00	\$10,668.00		
13	17	LF	DRILL SHAFT (24 IN)	\$345.00	\$5,865.00	\$347.00	\$5,899.00		
14	32	LF	DRILL SHAFT (30 IN)	\$460.00	\$14,720.00	\$464.00	\$14,848.00		





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES) TOTAL AMOUNT (QUANTITY X UNIT UNIT BID PRICE UNIT BID PRICE ITEM **ESTIMATED** PRICE) (IN FIGURES) UNIT BRIEF DESCRIPTION OF ITEM (IN FIGURES) (IN FIGURES) QUANTITY BASE BID: UNIT PRICE SCHEDULE CONDUIT (PVC) (SCHD 40) (2 IN) 15 816 LF \$25.30 \$20,644.80 \$26.00 \$21,216.00 CONDUIT (PVC) (SCHD 40) (2 IN) (BORE) 16 434 LF \$67.85 \$29,446.90 \$69.00 \$29,946.00 CONDUIT (PVC) (SCHD 40) (3 IN) (TRENCH) 17 90 LF \$34.50 \$3,105.00 \$35.00 \$3,150.00 CONDUIT (PVC) (SCHD 40) (3 IN) (BORE) 18 LF \$79.35 \$8,411.10 \$80.00 \$8,480.00 106 ELECTRICAL CONDUCTOR (NO. 6) POWER 19 128 LF \$3.68 \$471.04 \$4.00 \$512.00 ELECTRICAL CONDUCTOR (NO. 6) 20 1,194 LF \$3.68 \$4,393.92 \$4.00 \$4,776.00 GROUND ELECTRICAL CONDUCTOR (NO. 14) 21 4,435 LF \$2.42 \$10,732.70 \$3.00 \$13,305.00 INSULATED 22 EΑ GROUND BOX TYPE A WITH APRON \$1,897.50 \$1,919.00 \$11,514.00 6 \$11,385.00 23 1 EΑ GROUND BOX TYPE C WITH APRON \$2,185.00 \$2,185.00 \$2,210.00 \$2,210.00





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT BID DATE: Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT UNIT BID PRICE UNIT BID PRICE ITEM **ESTIMATED** PRICE) PRICE) UNIT **BRIEF DESCRIPTION OF ITEM** (IN FIGURES) (IN FIGURES) NO. QUANTITY (IN FIGURES) (IN FIGURES) BASE BID: UNIT PRICE SCHEDULE GROUND BOX TYPE 1 WITH APRON 24 EΑ \$6,325.00 \$18,975.00 \$6,396.00 \$19,188.0 25 EΑ A GROUND BOX TYPE 2 WITH APRON \$7,590.00 \$7,590.00 \$7,627.00 \$7,627.00 INSTALL TRAFFIC SIGNAL SYSTEM ¹ (ISOLATED) 26 \$41,400.00 \$41,400.00 \$41,861.00 \$41,861.00 EΑ INSTALL ELECTRICAL SERVICE TY D 27 EΑ \$7,820.00 \$7,820.00 \$7,907.00 \$7,907.00 120/240 060(NS)GS(N)GC(O) VEHICLE SIGNAL SECTION (12 IN) 28 \$690.00 \$4,830.00 \$692.00 \$4,844.00 EΑ LED (GREEN) COMPLETE W/ HOUSING AND BACKPLATE VEHICLE SIGNAL SECTION (12 IN) 29 EΑ LED (YELLOW) COMPLETE W/ \$690.00 \$4,830.00 \$692.00 \$4,844.00 HOUSING AND BACKPLATE VEHICLE SIGNAL SECTION (12 IN) LED (RED) COMPLETE W/ HOUSING AND BACKPLATE 30 EΑ \$603.75 \$4,226.25 \$611.00 \$4,277.00 VEHICLE SIGNAL SECTION (12 IN) LED (GREEN ARROW) COMPLETE W/ 31 \$632.50 \$632.50 \$639.00 \$639.00 EΑ HOUSING AND BACKPLATE





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 DEPARTMENT: CAPITAL IMPROVEMENT BID DATE: MAY 11, 2022 ${\bf ZTEX\ Construction,\ Inc.}$ Black Stallion Contractors, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT (QUANTITY X UNIT TOTAL AMOUNT (QUANTITY X UNIT UNIT BID PRICE UNIT BID PRICE ITEM **ESTIMATED** PRICE) (IN FIGURES) UNIT BRIEF DESCRIPTION OF ITEM PRICE) (IN FIGURES) (IN FIGURES) QUANTITY (IN FIGURES) BASE BID: UNIT PRICE SCHEDULE VEHICLE SIGNAL SECTION (12 IN) LED (YELLOW ARROW) COMPLETE W/ HOUSING AND BACKPLATE 32 EΑ \$580.75 \$580.75 \$588.00 \$588.00 COUNTDOWN PEDESTRIAN SIGNAL 33 6 EΑ \$1,121.25 \$6,727.50 \$1,134.00 \$6,804.00 SECTION W/ HOUSING TRAFFIC SIGNAL CABLE (TYPE A) (2 34 1,147 LF \$5.75 \$6.595.25 \$6.00 \$6.882.00 CONDUCTOR) (18 AWG) TRAFFIC SIGNAL CABLE (TYPE A) (3 35 LF \$3,732.90 \$7.00 541 \$6.90 \$3,787.00 CONDUCTOR) (18 AWG) W/ COAXIAL TRAFFIC SIGNAL CABLE (TYPE A) (5 36 426 LF \$7.07 \$3,011.82 \$8.00 \$3,408.00 CONDUCTOR) (12 AWG) TRAFFIC SIGNAL CABLE (TYPE A) (7 37 1,211 LF \$7.36 \$8,912.96 \$8.00 \$9,688.00 CONDUCTOR) (12 AWG) TRAFFIC SIGNAL CABLE (TYPE A) (19 38 413 LF \$9.60 \$3,964.80 \$10.00 \$4,130.00 CONDUCTOR) (12 AWG) TRAFFIC SIGNAL POLE ASSEMBLY 39 EΑ \$11,040.00 \$11,040.00 \$11,102.00 \$11,102.00 AND MAST ARM (20 FT) TRAFFIC SIGNAL POLE ASSEMBLY 40 EΑ \$11,304.50 \$11,304.50 \$11,421.00 \$11,421.00 1 AND MAST ARM (25 FT)





BID TI	TLE:	DONIPHAN TR	AFFIC SIGNALS						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022						DEPARTME	NT: CAPITAL IMPROVEMENT
				Black Stallion	Contractors, Inc.	ZTEX Const	ruction, Inc.		
				EI P	aso, TX	El Pas	so, TX		
				Bidd	er 1 of 2	Bidder			
ITEM NO.	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
				BASE BID: UI	NIT PRICE SCHE	DULE			
41	1	EA	TRAFFIC SIGNAL POLE ASSEMBLY AND MAST ARM (35 FT)	\$17,825.00	\$17,825.00	\$17,962.00	\$17,962.00		
42	3	EA	PEDESTRIAN POLE ASSEMBLY	\$3,450.00	\$10,350.00	\$3,471.00	\$10,413.00		
43	6	EA	PED PUSH BUTTON (APS)	\$1,437.50	\$8,625.00	\$1,454.00	\$8,724.00		
44	1	EA	A VIVDS PROCESSOR SYSTEM	\$7,590.00	\$7,590.00	\$7,674.00	\$7,674.00		
45	3	EA	VIVDS CAMERA ASSEMBLY	\$9,085.00	\$27,255.00	\$9,121.00	\$27,363.00		
46	1	EA	VIVDS SET-UP SYSTEM	\$1,150.00	\$1,150.00	\$1,163.00	\$1,163.00		
47	4,535	LF	FIBER OPTIC CBL (SINGLE-MODE)(12 FIBER)	\$17.25	\$78,228.75	\$17.00	\$77,095.00		
48	1	EA	FIBER OPTIC PATCH PANEL (12 POSITION)	\$6,325.00	\$6,325.00	\$6,396.00	\$6,396.00		
49	6	EA	FIBER OPTIC CABLE ROAD MARKER	\$862.50	\$5,175.00	\$873.00	\$5,238.00		





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT UNIT BID PRICE UNIT BID PRICE ITEM **ESTIMATED** (IN FIGURES) PRICE) (IN FIGURES) PRICE) UNIT BRIEF DESCRIPTION OF ITEM QUANTITY (IN FIGURES) (IN FIGURES) **BASE BID: UNIT PRICE SCHEDULE** 50 36 EΑ ALUMINUM SIGN (MAST ARM) \$51.75 \$1,863.00 \$53.00 \$1,908.00 INSTALL SIGN, POST, AND 51 3 EΑ \$1,092.50 \$3,277.50 \$1,105.00 \$3,315.00 ASSEMBLY REFLECTIVE PAVMENT MARKING TY 52 1,511 LF \$2.30 \$3,475.30 \$1.30 \$1,964.30 I (4 IN) (YELLOW) (SOLID) (100MIL) REFLECTIVE PAVMENT MARKING TY 53 180 LF \$2.88 \$518.40 \$1.30 \$234.00 I (4 IN) (WHITE) (BRK) (100MIL) REFLECTIVE PAVMENT MARKING TY 54 180 LF \$2.88 \$518.40 \$1.30 \$234.00 I (4 IN) (YELLOW) (BRK) (100MIL) REFLECTIVE PAVMENT MARKING TY LF 55 382 \$4.03 \$1,539.46 \$2.50 \$955.00 I (8 IN) (WHITE) (SOLID) (100MIL) REFLECTIVE PAVMENT MARKING TY 56 262 LF \$6.90 \$1,807.80 \$2.50 \$655.00 I (12 IN) (WHITE) (SOLID) (100MIL) REFLECTIVE PAVMENT MARKING TY 57 145 lf \$8.05 \$1,167.25 \$12.50 \$1,812.50 I (24 IN) (WHITE) (SOLID) (100MIL) REFLECTIVE PAVMENT MARKING TY 58 \$230.00 \$460.00 2 EΑ \$125.00 \$250.00 I (WHITE) (ARROW) (100MIL)





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 DEPARTMENT: CAPITAL IMPROVEMENT BID DATE: MAY 11, 2022 Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT (QUANTITY X UNIT UNIT BID PRICE UNIT BID PRICE ITEM **ESTIMATED** PRICE) PRICE) UNIT **BRIEF DESCRIPTION OF ITEM** (IN FIGURES) (IN FIGURES) QUANTITY NO. (IN FIGURES) (IN FIGURES) BASE BID: UNIT PRICE SCHEDULE REFLECTIVE PAVMENT MARKING TY 59 EΑ \$230.00 \$230.00 \$125.00 \$125.0 I (WHITE) (WORD) (100MIL) \$0.58 REFLECTIVE PAVMENT MARKING TY 60 EΑ \$0.58 \$1.00 \$1.00 I (WHITE) (RR XING) (100MIL) Contractor's Price 1,322.98 \$78,694.50 REMOVAL OF PAVEMENT MARKING 61 LF \$12.50 \$28.512.50 2.281 \$34.50 (4 IN) Contractor's Price \$483.00 \$8.12 REMOVAL OF PAVEMENT MARKING 62 14 LF \$0.58 \$1.00 \$14.00 (24 IN) Contractor's Price \$1,322.98 \$2,372.24 PAVEMENT SURFACE PREPARATION 63 LF \$1.04 \$1.30 \$2,965.30 2,281 FOR MARKINGS (4 IN) Contractor's Price PAVEMENT SURFACE PREPARATION 64 382 LF \$1.04 \$397.28 \$2.50 \$955.00 FOR MARKINGS (8 IN) PAVEMENT SURFACE PREPARATION 65 LF \$1.15 \$301.30 \$6.30 \$1,650.60 262 FOR MARKINGS (12 IN) PAVEMENT SURFACE PREPARATION 66 145 LF \$1.73 \$250.85 \$6.30 \$913.50 FOR MARKINGS (24 IN) PAVEMENT SURFACE PREPARATION 67 \$46.00 \$125.00 \$250.00 2 EΑ \$23.00 FOR MARKINGS (ARROW)





BID TI	TI E:	DONIPHAN TR	AFFIC SIGNALS						BID NO: 2022-0589
BID DA		MAY 11, 2022						DEPARTMEI	NT: CAPITAL IMPROVEMENT
		, .			Contractors, Inc.	ZTEX Const	ŕ		•
					aso, TX er 1 of 2		so, TX r 2 of 2		
ITEM NO.	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
				BASE BID: UI	NIT PRICE SCHE	DULE			
68	2	EA	PAVEMENT SURFACE PREPARATION FOR MARKINGS (WORD)	\$23.00	\$46.00	\$156.30	\$312.60		
69	1	EA	PAVEMENT SURFACE PREPARATION FOR MARKINGS (RR XING)	\$23.00	\$23.00	\$187.50	\$187.50		
			Base Bid I Sub Total (Items 2-69)	\$635,788.97 Contractor's Price: \$558,072.49		\$612,719.80			
			Mobilization (not to exceed 5% Base Bid I)	\$27	,345.22	\$1	.00		
			Sum Total Base Bid I & Mobilization	\$663,134.19 n Contractor's Price: \$585,418.04		\$612,720.80			





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT ITEM **ESTIMATED** UNIT BID PRICE (QUANTITY X UNIT UNIT BID PRICE (QUANTITY X UNIT CODE UNIT BRIEF DESCRIPTION OF ITEM PRICE) (IN FIGURES) PRICE)
(IN FIGURES) NO. QUANTITY (IN FIGURES) (IN FIGURES) **BASE BID II: UNIT PRICE SCHEDULE** 0500 Left Blank Intentionally 6001 0502 2 LS TRAFFIC CONTROL \$80,500.000 \$80,500.00 \$98,348.00 \$98,348.00 6001 0506 TEMPORARY SEDIMENT \$1,518.00 3 220 LF \$6.90 \$19.00 \$4,180.00 6038 CONTROL FENCE INSTL TEMPORARY SEDIMENT 0506 220 LF \$3.45 \$759.00 \$14.00 \$3,080.00 CONTROL FENCE REMOV 6039 REMOVE CURB AND GUTTER LF \$483.00 \$5.00 \$420.00 5 84 \$5.75 6021 AND DISPOSE OFF-SITE 0105 REMOVING STAB BASE AND 54 SY \$57.50 \$3,105.00 \$5.00 \$270.00 6011 ASPH PAV (2"-6") FURNISH AND INSTALL 0450 69 LF \$230.00 \$15,870.00 \$534.00 \$36,846.00 6048 HANDRAIL (TY B)





BID TIT	TLE:	DONIPHAN TR	AFFIC SIGNALS	<u> </u>						BID NO: 2022-0589
BID DA	TE:	MAY 11, 2022							DEPARTMENT:	CAPITAL IMPROVEMENT
					El P	Contractors, Inc. aso, TX er 1 of 2	ZTEX Const El Pa: Biddel	,		
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
					BASE BID II: U	INIT PRICE SCH	DULE			
8	0529 6002	3	LS	CONC CURB (TY II)	\$57.50	\$172.50	\$1,867.00	\$5,601.00		
9	0529 6008	73	LF	CONC CURB & GUTTER (TY II)	\$34.500	\$2,518.50	\$27.00	\$1,971.00		
10	0531 6001	55	SY	CONC SIDEWALKS (4")	\$97.75	\$5,376.25	\$8.00	\$440.00		
11	0531 6004	2	EA	CURB RAMPS (TY 1)	\$1,380.00	\$2,760.00	\$1,467.00	\$2,934.00		
12	0531 6006	1	EA	CURB RAMPS (TY 3)	\$1,437.50	\$1,437.50	\$1,867.00	\$1,867.00		
13	0531 6010	5	EA	CURB RAMPS (TY 7)	\$1,495.00	\$7,475.00 Contractor's Price: \$1,495.00	\$1,556.00	\$7,780.00		
14	0416 6002	11	LF	DRILL SHAFT (24 IN)	\$345.00	\$3,795.00	\$332.00	\$3,652.00		





BID TI	TLE:	DONIPHAN TR	AFFIC SIGNALS	S						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022							DEPARTMEN	IT: CAPITAL IMPROVEMENT
					El Pa	Contractors, Inc. aso, TX er 1 of 2		ruction, Inc. so, TX · 2 of 2		
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
		BASE BID II: UNIT PRICE SCHEDULE								
15	0416 6003	21	LF	DRILL SHAFT (30 IN)	\$460.00	\$9,660.00	\$444.00	\$9,324.00		
16	0416 6004	24	LF	DRILL SHAFT (36 IN)	\$488.750	\$11,730.00	\$473.00	\$11,352.00		
17	0618 6023	2,167	LF	CONDUIT (PVC) (SCHD 40) (2 IN) (TRENCH)	\$14.38	\$31,161.46	\$14.00	\$30,338.00		
18	0618 6024	966	LF	CONDUIT (PVC) (SCHD 40) (2 IN) (BORE)	\$69.00	\$66,654.00	\$66.00	\$63,756.00		
19	0618 6029	125	LF	CONDUIT (PVC) (SCHD 40) (3 IN) (TRENCH)	\$20.70	\$2,587.50	\$20.00	\$2,500.00		
20	0618 6030	204	LF	CONDUIT (PVC) (SCHD 40) (3 IN) (BORE)	\$74.75	\$15,249.00	\$73.00	\$14,892.00		
21	0618 6033	31	LF	CONDT (PVC) (SCH 40) (4")	\$25.30	\$784.30	\$25.00	\$775.00		





BID TI	ΓLE:	DONIPHAN TR	AFFIC SIGNALS	3						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022							DEPARTMEN	NT: CAPITAL IMPROVEMENT
					Black Stallion	Contractors, Inc.	ZTEX Const	ruction, Inc.		
					EI P	aso, TX	El Pa	so, TX		
					Bidd	er 1 of 2	Bidde	2 of 2		
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
					BASE BID II: U	INIT PRICE SCH	DULE			
22	0618 ELP1	107	LF	CONDT (HDPE) (8") BORE	\$287.50	\$30,762.50	\$278.00	\$29,746.00		
23	0620 6002	2,069	LF	ELECTRICAL CONDUCTOR (NO. 14) INSULATED	\$2.42	\$5,006.98	\$3.00	\$6,207.00		
24	0620 6010	1,638	LF	ELECTRICAL CONDUCTOR (NO. 6) INSULATED	\$3.68	\$6,027.84	\$4.00	\$6,552.00		
25	0620 6020	694	LF	ELECTRICAL CONDUCTOR (NO.1/0) INSULATED	\$12.08	\$8,383.52	\$12.00	\$8,328.00		
26	0624 6002	6	EA	GROUND BOX TY A (122311) W/APRON	\$1,840.00	\$11,040.00	\$1,723.00	\$10,338.00		
27	0624 6008	1	EA	GROUND BOX TY C (162911) W/APRON	\$2,300.00	\$2,300.00	\$2,223.00	\$2,223.00		
28	0624 6014	8	EA	GROUND BOX TY 1 (122422)W/APRON	\$6,325.00	\$50,600.00	\$6,112.00	\$48,896.00		





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT ZTEX Construction, Inc. Black Stallion Contractors, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT ITEM ESTIMATED UNIT BID PRICE (QUANTITY X UNIT UNIT BID PRICE (QUANTITY X UNIT CODE UNIT BRIEF DESCRIPTION OF ITEM PRICE)
(IN FIGURES) PRICE)
(IN FIGURES) NO. QUANTITY (IN FIGURES) (IN FIGURES) **BASE BID II: UNIT PRICE SCHEDULE** 0624 GROUND BOX TY 2 \$7,333.00 29 EΑ \$7,590.00 \$7,590.00 \$7,333.00 6021 (243636)W/APRON 0628 INSTALL ELECTRICAL SERVICE 30 EA \$7,820.000 \$7,820.00 \$7,556.00 \$7,556.00 6225 TY D 120/240 060(NS)GS(N)GC(O) 0680 INSTALL TRAFFIC SIGNAL \$41,400.00 31 EΑ \$41,400.00 \$40,000.00 \$40,000.00 6002 SYSTEM 1 (ISOLATED) VEHICLE SIGNAL SECTION (12 0682 32 10 EΑ \$690.00 \$6,900.00 \$662.00 \$6,620.00 IN) LED (GREEN) 6001 VEH SIG SEC (12")LED(GRN 0682 \$690.00 \$1,380.00 \$662.00 \$1,324.00 33 2 EΑ 6002 ARW) 0682 VEHICLE SIGNAL SECTION (12 34 10 EΑ \$603.75 \$6,037.50 \$584.00 \$5,840.00 6003 IN) LED (YELLOW) VEHICLE SIGNAL SECTION (12 0682 35 2 EΑ \$632.50 \$1,265.00 \$610.00 \$1,220.00 6004 IN) LED (YEL ARW)





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT ZTEX Construction, Inc. Black Stallion Contractors, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT ITEM **ESTIMATED** UNIT BID PRICE (QUANTITY X UNIT UNIT BID PRICE (QUANTITY X UNIT CODE UNIT BRIEF DESCRIPTION OF ITEM PRICE) (IN FIGURES) PRICE)
(IN FIGURES) NO. QUANTITY (IN FIGURES) (IN FIGURES) **BASE BID II: UNIT PRICE SCHEDULE** VEHICLE SIGNAL SECTION (12 0682 \$562.00 36 10 EΑ \$580.75 \$5,807.50 \$5,620.00 6005 IN) LED (RED) COUNTDOWN PEDESTRIAN 0682 37 8 EA \$1,150.000 \$9,200.00 \$1,084.00 \$8,672.00 6018 SIGNAL SECTION W/ HOUSING 0682 BACK PLATE (12")(3 SEC) \$1,840.00 38 8 EΑ \$230.00 \$223.00 \$1,784.00 6023 0682 BACK PLATE (12")(5 SEC) \$223.00 39 2 EΑ \$230.00 \$460.00 \$446.00 6025 TRAFFIC SIGNAL CABLE (TYPE \$7.00 LF \$7,317.45 \$7,245.00 40 1,035 \$7.07 6010 A) (5 CONDUCTOR) (12 AWG) 0684 TRF SIG CBL (TY A)(12 AWG)(7 41 891 LF \$7.36 \$6,557.76 \$8.00 \$7,128.00 6012 CONDR) TRF SIG CBL (TY A)(12 AWG)(19 0684 42 773 LF \$8.68 \$6,709.64 \$9.00 \$6,957.00 6024 CONDR)





BID TI	TLE:	DONIPHAN TR	AFFIC SIGNALS	S						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022							DEPARTMEN	NT: CAPITAL IMPROVEMENT
					Black Stallion	Contractors, Inc.	ZTEX Const	ruction, Inc.		
					EI P	aso, TX	El Pa	so, TX		
					Bidd	er 1 of 2	Bidde	2 of 2		
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
					BASE BID II: U	NIT PRICE SCH	DULE			
43	0684 6053	1,542	LF	TRF SIG CBL (TY A)(18 AWG)(2 CONDR)	\$4.95	\$7,632.90	\$5.00	\$7,710.00		
44	0684 6054	952	LF	TRF SIG CBL (TY A)(18 AWG)(3 CONDR)	\$5.750	\$5,474.00	\$6.00	\$5,712.00		
45	0686 6021	2	EA	INS TRF SIG PL AM (S)1 ARM(20')	\$11,040.00	\$22,080.00 Contractor's price: \$20,080.00	\$10,608.00	\$21,216.00		
46	0686 6049	2	EA	INS TRF SIG PL AM(S)1 ARM(48')	\$23,000.00	\$46,000.00	\$22,049.00	\$44,098.00		
47	0687 6001	2	EA	PEDESTRIAN POLE ASSEMBLY	\$3,450.00	\$6,900.00	\$3,317.00	\$6,634.00		
48	0688 6001	8	EA	PED PUSH BUTTON (APS)	\$1,437.50	\$11,500.00	\$1,389.00	\$11,112.00		
49	0688 6003	1	EA	PED DETECTOR CONTROLLER UNIT	\$1,955.00	\$1,955.00	\$1,887.00	\$1,887.00		





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT ZTEX Construction, Inc. Black Stallion Contractors, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT ITEM ESTIMATED UNIT BID PRICE (QUANTITY X UNIT UNIT BID PRICE (QUANTITY X UNIT CODE UNIT BRIEF DESCRIPTION OF ITEM PRICE) (IN FIGURES) PRICE)
(IN FIGURES) NO. QUANTITY (IN FIGURES) (IN FIGURES) **BASE BID II: UNIT PRICE SCHEDULE** 6002 50 \$7,746.00 EA VIVDS PROCESSOR SYSTEM \$8,050.00 \$8,050.00 \$7,746.00 6001 \$32,200.00 6002 51 EA VIVDS CAMERA ASSEMBLY \$8,050.000 \$7,753.00 \$31,012.00 6002 Contractor's price \$8,050.00 6002 VIVDS SET-UP SYSTEM \$1,250.00 52 EΑ \$1,150.00 \$1,150.00 \$1,250.00 6003 FIBER OPTIC CBL (SINGLEMODE)(6007 53 \$41,211.00 2,169 LF \$16.68 \$36,178.92 \$19.00 12 FIBER) 6011 FIBER OPTIC PATCH PANEL (12 6007 54 \$6,325.00 \$6,325.00 \$6,875.00 \$6,875.00 EΑ 6023 POSITION) 6007 FIBER OPTIC CABLE ROAD 55 3 EΑ \$862.50 \$2,587.50 \$938.00 \$2,814.00 6026 MARKER FIBER OPTIC CABLE ROAD 6007 56 1 EΑ \$143.75 \$143.75 \$157.00 \$157.00 ELP1 MARKER (RELOCATE)





BID TI	TLE:	DONIPHAN TR	AFFIC SIGNALS	S						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022							DEPARTMEN	IT: CAPITAL IMPROVEMENT
					El Pa	Contractors, Inc. aso, TX er 1 of 2		ruction, Inc. so, TX · 2 of 2		
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
					BASE BID II: U	INIT PRICE SCH	DULE			
57	ELP- 0001	1	EA	EPEC POWER SOURCE ESTIMATED FEE	\$17,250.00	\$17,250.00	\$18,750.00	\$18,750.00		
58	0644 6001	36	EA	IN SM RD SN SUP&AM TY10BWG (1)SA(P)	\$1,092.500	\$39,330.00	\$1,188.00	\$42,768.00		
59	0644 6027	5	EA	IN SM RD SN SUP&AM TYS80(1)SA(P)	\$1,265.00	\$6,325.00	\$1,319.00	\$6,595.00		
60	0644 6076	2	EA	REMOVE SM RD SN SUP & AM	\$172.50	\$345.00	\$188.00	\$376.00		
61	666 6003	722	LF	REFLECTIVE PAVMENT MARKING TY I (4 IN) (WHITE) (BRK) (100MIL)	\$2.88	\$2,079.36	\$1.30	\$938.60		
62	666 6036	830	LF	REFLECTIVE PAVMENT MARKING TY I (8 IN) (WHITE) (SOLID) (100MIL)	\$4.03	\$3,344.90	\$1.90	\$1,577.00		
63	666 6042	468	LF	REFLECTIVE PAVMENT MARKING TY I (12 IN) (WHITE) (SOLID) (100MIL)	\$6.90	\$3,229.20	\$3.80	\$1,778.40		





BID TI	TLE:	DONIPHAN TR	AFFIC SIGNAL	S						BID NO: 2022-0589
BID D	ATE:	MAY 11, 2022							DEPARTMEN	NT: CAPITAL IMPROVEMENT
					Black Stallion	Contractors, Inc.	ZTEX Const	ruction, Inc.		
					EI P	aso, TX	El Pa	so, TX		
					Bidd	er 1 of 2	Bidder 2 of 2			
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
					BASE BID II: U	INIT PRICE SCH	DULE			
64	666- 6048	198	LF	REFLECTIVE PAVMENT MARKING TY I (24 IN) (WHITE) (SOLID) (100MIL)	\$8.05	\$1,593.90	\$12.50	\$2,475.00		
65	666- 6054	6	EA	REFLECTIVE PAVMENT MARKING TY I (WHITE) (ARROW) (100MIL)	\$230.000	\$1,380.00	\$156.30	\$937.80		
66	666 6078	3	EA	REFLECTIVE PAVMENT MARKING TY I (WHITE) (WORD) (100MIL)	\$230.00	\$690.00	\$156.30	\$468.90		
67	666 6093	1	EA	REFLECTIVE PAVMENT MARKING TY I (WHITE) (RR XING) (100MIL)	\$230.00	\$230.00	\$156.30	\$156.30		
68	666 6126	980	LF	REFLECTIVE PAVMENT MARKING TY I (4 IN) (YELLOW) (BRK) (100MIL)	\$2.88	\$2,822.40	\$1.30	\$1,274.00		
69	666 ELP1	21	LF	REFL PAV MRK TY I (Y) 8"(DOT)(100MIL)	\$6.90	\$144.90	\$3.80	\$79.80		
70	666 6224	3,808	LF	PAVEMENT SEALER 4"	\$2.30	\$8,758.40	\$0.90	\$3,427.20		





BID TI	TLE:	DONIPHAN TR	AFFIC SIGNALS	3						BID NO: 2022-0589
BID DA	ATE:	MAY 11, 2022							DEPARTMEN	NT: CAPITAL IMPROVEMENT
					Black Stallion	Contractors, Inc.	ZTEX Const	truction, Inc.		
					El Pa	aso, TX	El Pa	so, TX		
					Bidd	er 1 of 2	Bidde	r 2 of 2		
ITEM NO.	CODE	ESTIMATED QUANTITY	UNIT	BRIEF DESCRIPTION OF ITEM	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)	UNIT BID PRICE (IN FIGURES)	TOTAL AMOUNT (QUANTITY X UNIT PRICE) (IN FIGURES)		
					BASE BID II: U	NIT PRICE SCH	DULE			
71	666 6226	851	LF	PAVEMENT SEALER 8"	\$3.45	\$2,935.95	\$0.90	\$765.90		
72	666 6228	468	LF	PAVEMENT SEALER 12"	\$4.600	\$2,152.80	\$2.50	\$1,170.00		
73	666 6230	198	LF	PAVEMENT SEALER 24"	\$6.90	\$1,366.20	\$5.00	\$990.00		
74	666 6231	6	EA	PAVEMENT SEALER (ARROW)	\$97.50	\$585.00	\$62.50	\$375.00		
75	666 6232	3	EA	PAVEMENT SEALER (WORD)	\$97.75	\$293.25	\$62.50	\$187.50		
76	666 6242	1	EA	PAVEMENT SEALER (RR XING)	\$97.75	\$97.75	\$125.00	\$125.00		
77	666 6342	1,078	LF	REF PROF PAV MRK TY I (W) 4" (SLD) (100MIL)	\$2.88	\$3,104.64	\$1.00	\$1,078.00		





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 DEPARTMENT: CAPITAL IMPROVEMENT MAY 11, 2022 BID DATE: Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 1 of 2 Bidder 2 of 2 TOTAL AMOUNT TOTAL AMOUNT (QUANTITY X UNIT ITEM ESTIMATED QUANTITY UNIT BID PRICE UNIT BID PRICE (QUANTITY X UNIT CODE UNIT **BRIEF DESCRIPTION OF ITEM** NO. (IN FIGURES) PRICE) (IN FIGURES) PRICE) (IN FIGURES) (IN FIGURES) BASE BID II: UNIT PRICE SCHEDULE REF PROF PAV MRK TY I (Y) 4" 78 1,028 LF \$2.88 \$2,960.64 \$1.00 \$1,028.00 6345 (SLD) (100MIL) 672 REFL PAV MRKR TY I-C \$230.000 \$14,720.00 \$6.30 \$403.20 79 64 EΑ 6007 672 \$287.50 \$27,025.00 \$6.30 \$592.20 80 94 EΑ REFL PAV MRKR TY II-A-A 6009 81 \$4,581.60 \$1.00 \$3,320.00 3,320 LF ELIM EXT PAV MRK & MRKS (4") \$1.38 6001 677 82 600 LF ELIM EXT PAV MRK & MRKS (8") \$1.73 \$1,038.00 \$1.00 \$600.00 6003 PAVEMENT SURFACE 83 3,808 LF PREPARATION FOR MARKINGS \$0.58 \$2,208.64 \$1.00 \$3,808.00 6001 (4 IN) PAVEMENT SURFACE PREPARATION FOR MARKINGS 678 84 LF \$885.04 851 \$1.04 \$1.30 \$1,106.30 6004 (8 IN)





BID TITLE: DONIPHAN TRAFFIC SIGNALS BID NO: 2022-0589 BID DATE: MAY 11, 2022 DEPARTMENT: CAPITAL IMPROVEMENT Black Stallion Contractors, Inc. ZTEX Construction, Inc. El Paso, TX El Paso, TX Bidder 2 of 2 Bidder 1 of 2 TOTAL AMOUNT TOTAL AMOUNT ITEM **ESTIMATED** UNIT BID PRICE (QUANTITY X UNIT UNIT BID PRICE (QUANTITY X UNIT CODE UNIT BRIEF DESCRIPTION OF ITEM NO. QUANTITY (IN FIGURES) PRICE) (IN FIGURES) PRICE) (IN FIGURES) (IN FIGURES) **BASE BID II: UNIT PRICE SCHEDULE** PAVEMENT SURFACE PREPARATION FOR MARKINGS LF \$1.15 \$538.20 \$2.50 \$1,170.00 85 468 6006 (12 IN) PAVEMENT SURFACE PREPARATION FOR MARKINGS 678 86 198 LF \$1.730 \$342.54 \$6.30 \$1,247.40 6008 (24 IN) PAVEMENT SURFACE 87 EΑ PREPARATION FOR MARKINGS \$23.00 \$138.00 \$125.00 \$750.00 6 6009 (ARROW) PAVEMENT SURFACE PREPARATION FOR MARKINGS 0678 \$23.00 \$69.00 \$156.30 \$468.9 88 EΑ 3 6016 (WORD) PAVEMENT SURFACE 0678 PREPARATION FOR MARKINGS (RR \$23.00 \$187.50 EΑ \$23.00 \$187.50 6020 \$828,767.08 Base Bid II Sub Total (Items 2-89) \$810,769.90 Contractor's price: \$828,768.58 Mobilization (not to exceed 5% Base Bid II \$40,609.66 \$1.00 \$869,376.74 Sum Total Base Bid II & Mobilization \$810,770.90 Contractor's price: \$869,378.24 \$1,532,510.93 Sum Total Base Bid I & Base Bid II \$1,423,491.70 Contractor's price: \$1,454,796.28 AMENDMENT ACKNOWLEDGED: N/A N/A BID BOND SUBMITTED Yes Yes

	2022-0589 Doniphan Traffic Signals							
	View List							
1	1988	Garcia, Alfonso						
2	Abescape	Gallegos, Mari						
3	Allen Concrete Inc.	Magdaleno, Jesus						
4	AMTEK	Rugh, John						
5	Black Stallion Contr	Luna, Hector						
6	CEA Group	Fraga, Anthony						
7	ConstructConnect	STINSON, MORGAN						
8	Construction Journal	Exton, Pamela						
9	Construction Reporte	Wood, Jane						
10	Deltek	Management, Source						
11	Direx Construction,	Hudson, Brad						
12	Dodge Data	Peggy, Koehn						
13	DRS Rock Materials,	Soto, Daniel						
14	El Paso Tractor	Salgado, Jacob						
15	Enotsyek	Dominguez, Luis						
16	eRepublic, Inc.	Lamoreaux, Mary						
17	Globe Builders, LLC	Banks, Archie						
18	Gracen Eng. And Cons	Sambrano, Michael						
19	Horizone Const. 1 LT	De Stefano, Luis Rene						
20	i- Sourcing Technolo	Balai, Rakesh						
21	ITS Plus Inc	Morrsy, Mona						
22	Jobe Materials	Paredes, Raul						
23	Martinez Brothers Co	mota, pablo						
24	MERCER TECHNOLOGIES	Mercer, Garrett						
25	MoboTrex, Inc.	Lanning, Cody						
26	Mr.	Ortiz, Cano						
27	Pacific Inc	Doe, John						
28	Perikin Enterprises	Silva, Luis						
29	PMI Pavement Marking	HESSNEY, STEVE						
30	Prime Vendor Inc.	Jones, Kim						
31	PWXPress	Miller, Mary						
32	Smartprocure	Bjornsson, Ron						
33	Straight Edge Contra	Jesus, Mesta						
34	The PlanIt Room	Hernandez, Cecilia						
35	Tri-State Electric,	Motta, Alejandro						
36	Vitual Builders Exch	Olguin, Jeannette						
37	Wayne Enterprises	Austin, Fork						
38	Ztex Construction	Construction, Ztex						
39		Banquil, Lovely						
40		Watson, Frank						